ELECTRONIC CALL BACK HOURLY CONVERSION CHART

HOW TO USE THIS CHART
This chart is to assist you in reporting your electronic callback worked.To bank your Electronic Call Back as time off, refer to the
"Banking Electronic Call Back Conversion Chart".

Your timesheet calculates your actual time worked based on an hourly rate, therefore all time entered must be hourly or as a
portion of an hour.

The following chart shows the number of minutes worked, how to enter the amount of time worked as hours, and which code to
use. The hours to enter in the timesheet have been calculated for you in this chart. You do not need to do any further
calculation when entering Electronic Call Back using this chart.

You are eligible to be compensated at the greater of one hour at the straight time rate, or the applicable overtime rate for time
worked. The one hour minimum payment is only applicable once in every 60-minute period. Time worked over the 60-minute
period that began when the first call started enters a new 60-minute period. Every time this occurs, begin entering from the top of
the column for "First Call in a 60-minute period".

HOURLY CONVERSION CHART WHEN ENTERING ELECTRONIC CALLBACK

First Call in a 60 minute First Call on a Stat or 2nd / Second or Subsequent Call in the same 60 minute
period subsequent day of rest period
. Hours to o . Hours to o . Hours to Code for Code for
Minutes . ] Minutes . ] Minutes .
Worked enterinthe| g Worked enter in the o Worked enter in the |workday or 1st| Stat or 2nd+
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1 1.0000 1 1.0000 1 0.0167
2 1.0000 2 1.0000 o 2 0.0333 >
3 1.0000 2 3 1.0000 8 3 0.0500 @3 8
4 1.0000 O 4 1.0000 L 4 0.0667 8 5
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13 1.0000 o 13 1.0000 Q 13 0.2167 ™ i
14 1.0000 | 3 14 1.0000 o 14 0.2333 o O
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31 1.0000 31 0.5167
32 1.0000 | & 32 05333 | L o
33 1.0000 | S 33 0.5500 o g
34 10000 | 5 34 05667 | 0 5
35 1.0000 | & 35 0.5833 5 g
36 1.0000 | 36 06000 | & &
37 1.0000 | & 37 0.6167 | O 2
38 1.0000 | § 38 0.6333 ° o
39 1.0000 39 06500 | S <
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41 0.6833 | 41 0.6833 S
42 0.7000 | O 42 07000 | < ©
43 07167 |Y 3 43 07167 | 8 3
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4 X
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50 0.8333 z 50 0.8333 2
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58 0.9667 £ 0 58 0.9667 £
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54 0.9000 O 9
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60 1.0000 8 3]

Time worked over 60
minutes enters a new 60-
minute period. Every time
this occurs, begin entering
from the top of the column

for "First Call in a 60-minute
period".

)

For example, EE works for
70 minutes. For the first 60,
the greater benefit is to
enter 1 ECBE or ECB3. For
the last 10 minutes, the
greater benefit is then to
enter 1 ECB or ECBO.

Time worked over 60 minutes
enters a new 60-minute period.
Every time this occurs, begin
entering from the top of the
column for "Call on a Stat or
second/subsequent day of
rest".

Time worked over the 60-minute period that began
when the first call started enters a new 60-minute
period. Every time this occurs, begin entering from the
top of the column for "First Call in a 60-minute period"
or ""First Call on a Stat or 2nd/Subsequent Day of
Rest".

For example, Call 1 is from
22:20 - 22:35. Enter 1 ECB or
ECBO (see column for "First
Call in a 60 minute period").

v

Call 2 is from 22:35 - 22:50.
This call is 15 minutes, or 0.25
hours and falls completely
within the 60-minute period
that began at 22:20 with Call 1.
Enter 0.25 ECB1 or ECB3 for
Call 2 (see column for "Second
Call in the same 60 minute
period").

Call 3 is from 22:50 - 23:45. The first 30 minutes of this
call fall into the same 60-minute period that began at
22:20 with Call 1. These 30 minutes are entered as 0.5
ECB1 or ECB3.

The last 25 minutes of Call 3 fall into the next 60-minute
period, so for this part of the call look in the column for
"First Call in a 60-minute Period." These 25 mins are
entered as 1 ECB or ECBO.

v

Total amount for all three
calls: 2 ECB or ECBO,
and 0.75 ECB1 or ECB3




